2.1 Average Rate of Change

Calculus
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3. h(x) =Vx+5+1; [-1,4]
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| Find the average rate of change for each function on the given interval.

4. gr)=2r+r-1; [0,1]
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6. a(x) =Inx; [1,e]
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| Find the average rate of change for each function on the given inte

rval. Use appropriate units.

7.s(t) =—-t>—t+4; [1,5]
s represents feet
t represents seconds
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8. A(t) = 2% [2,4]
A represents dollars
t represents years
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9. n(m) =tanm+4; |-,
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n represents nose hairs
m represents months
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| Find the equation of the secant line on the given interval. Put the equation in slope-intercept form. |

10. v(t) =t3 - t; [-2,2]
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1. f(0) =5 [F1L1]

12. h(t) = sint; [n,%"]
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[ Using the interval [x, x + h], find the expression that represents the slope of the secant line.
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14. f(x) = Vx
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Test Prep: 1A, 2C, 3A, 4D, 5E




